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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 973 8.7 2.7 14 61.8 100
2 973 6.8 2.4 12 56.7 100
3 973 9.1 2.3 16 57 100
4 973 7.5 3.3 18 41.8 100
5 973 12 2.8 20 60.1 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(1681-01)

Examiner
only

Answer all questions.

1.	 Enabling factors, such as improved transport provision, have helped to increase the number of 
people taking part in tourist activities.

	 (b)	 Explain how improvements to transport provision have helped to increase the number of 
people taking part in tourist activities.	 [4]                                                                                                                       
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1b: 2

Sticky Note
The candidate has been awarded Level 1, 2 marks. The first sentence is purely introductory. The middle sentence has gained the two marks. The final sentence is too vague. 
To achieve Level 2 the candidate could have referred to other forms of transport and provided some exemplification such as National Express, easyJet and the Severn Bridge. Overall, basic knowledge and understanding.





1b: 2

Sticky Note
The candidate has provided a basic Level 1 answer which includes one example - albeit dated.
Better answers focused on more up to date examples such as cheaper flights provided by easyJet and Ryanair.
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(1681-01)

Examiner
only

4.	

SMEs from different sectors of the UK’s travel and tourism industry often need to work together 
to be successful and meet the expectations of tourists. 

	 (b)	 Explain two examples of how SMEs from different sectors of the travel and tourism 
industry might work together. 	 [4]

1. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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4b: 0

Sticky Note
A typical effort from a weak candidate. A significant minority of candidates have little or no knowledge and understanding of SMEs.





4b: 0

Sticky Note
The examples used are not SMEs. The candidate has overcomplicated their response. Simple examples, as given in the mark scheme, would have sufficed. 
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Examiner
only

The UK offers a range of natural and built visitor attractions within countryside destinations.

	 (d)	 Discuss the range of countryside visitor attractions in the UK which appeal to different 
tourist types. Give named examples to support your answer.	 [8]

© WJEC CBAC Ltd.

18

4.





4d: 4

Sticky Note
The candidate has provided a detailed answer which just achieves Level 2. However, National Parks are tourism destinations not attractions. To achieve upper Level 2 / Level 3 the candidate's answer should have focused on the attractions within National Parks. Better answers included named natural attractions, heritage sites, museums etc.  





4d: 5

Sticky Note
This is a detailed answer which includes three valid attractions. However, the range is limited as there the candidate has not included any natural attractions which one would expect for countryside visitor attractions. 
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GCE TRAVEL AND TOURISM 


UNIT 1 - INTRODUCING TRAVEL & TOURISM 


MARK SCHEME - SUMMER 2014 


Question Answer 
Mark 


allocation 
Assessment 


objective 


1 (b) Possible answers: 


 Aircraft developments – long haul aircraft


 Motorways – faster, e.g. M4


 Bridges – Severn, Humber


 Rail electrification


 Ferry – quality of products and services,
safety


 Cruise ships – pricing, range of products
and services


 Coach operators – more comfort, pricing,
e.g. national express.


0-4 A01 - 4 


Other candidates may focus on how the 
following improvements have increased 
tourist numbers: 


 Cleaner - air pollution


 safer


 More comfort


 faster


 easier access


 Technology


 Cheaper


Levels marked 


Level 1 explanations are likely to be basic and 
include only one or two improvements. Little 
knowledge and understanding. Generic/List-
type answer.  


Level 2 explanations are likely to be detailed 
and include at least two or three 
improvements with exemplification. Some 
knowledge and understanding. 


1-2 


3-4 
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Question Answer Mark 
allocation 


Assessment 
objective 


Q.4 (b) Possible answers: 
1. A guest house in seaside resort might provide


information on local restaurants. The
information could provide a discount to the
customers of the guesthouse.


2. Three local visitor attractions might offer a
reduced set price for entrance to the all three.
The offer could be promoted at a local tourist
information centre.


Any two appropriate examples. 1 mark for an 
appropriate suggestion and 1 mark for clear 
development.  


0-4 A01 – 2 
A02 -2 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


(d) Possible attractions: 


Natural 


 River


 Lake


 Forest / wood


 Volcano


 Beach


 Headland


 Mountain


 National park


Built 


 Theme park


 Museum


 Theme farm


 Cathedrals


 Castles


Tourist types 


 Groups


 Families


 Couples


 Bird watchers


 Adrenaline junkies


 Culture vultures


 Beach bums


Levels marked 


Level 1 – discussions are likely to be basic and 
include only one or two attractions. Little 
knowledge and understanding. Generic / list type 
answer. 


Level 2 – discussions are likely to be detailed and 
include at least two or three attractions – built and 
natural. Some knowledge and understanding. 


Level 3 - discussions are likely to be well 
developed and include at least three or four 
attractions – a well-balanced answer. Clear 
knowledge and understanding.  


No marks for non-UK destinations / examples. 


0-8 


1-3 


4-6 


7-8 


A01 – 4 
A01 - 4 


Total marks 18 


4.
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